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{hoose the correct answer from the following:

f. The musde which can both flex the hip and extend the knee is :
a. Sartorius b. Rectus femoris
c. Semi membranosus d. Biceps femoris

2. What tvpe of jomt is the Hip joint ?
a. Ball & socket ant Hinge joint
c. Pivotjoint d. Ellipsoid joint
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X Largest carpal bone is
a. Iriquetial b. Scaphoid
c. Capitate d. Hamalte

4. \ction of biccps brachii is

Flextion of elbow and supinator of : ; ’
b. Ixtension of elbow
torcarm

Ju23/12

SET l
£

Full Marks: 70

Marks: 20
I1X20=20

c. Abduction of shoulder d. Internal rotation ot shoulder
20Wh s the asertion point of Gluteus Medius & Minimuos muscles ?

a Thotlaai tract b, Greater Trochanter

c. Uduieal tuberosity + Hhiotibial tract . Trochanteric toss ol fTemur

6. Which valve is responuible tor preventing, the back-flow of bload from the aorta into

the lettventricle ?

a. lawospid b, Pulmonary

. Mitral d. Nortic valve
T Whnch suucturs v the Thoradic inlet ?

T s B R () h. Subscapularis

co e onds fascia 1. Rhomboid muscl

-

N Whe v lobe of nipht Hang is located above the horizontal lissue !
A Sapenor lobe b, Aliddle lobe

oo dnterion lobe d. Sigmoid labe

9. Shoulderioint is formed by the articulation between
Acromion process and heed or
humerus

. Dateral end of davidle and sterram d. All of the above

h. Glenotd cavity and head of humerus
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10, Which muscie plavs a significant role in respication and is located between the ribs 2
a.  Pectoris major b.  External intercostal
c. lLatissimus dorsi d.  Serratus anteiior

1. ‘The contents of middle mediastinum are all of the following except .
a. leart & pericardium b.  Pulmonary arterics
. Bifurcation of trachea

¢.  Upper half of superior vena cava «

12. Anterior wall of axilla is bounded by all except
a. Pectoralis major b. Pectoralis minor

c.  Subclavius d. Serratus anterior

13, The muscle that unlocks the knee joint is :
a. Quadriceps femoris b. Popliteus

c.  Gastrocnemius d. Plantaris

14 The structure present between tibial condyles of upper end of Tibia is called :
a. Intercondvlar tubercle b. Gerdy's tubercle
c. Intercondylar ridge d. Cruaate tubercle

15, All the superficiai flexors of forcarm have a common origin from front of
a. Lateral epicondyle of humerus. b. Medial epicondy le of humerus.
c. Bicipital groove of humerus d. Olecranon process or ulba

16.  Fertilisation is :
a. Adding, fertiliser b.  Union of ovom and spermatozoon
c.  Becoming overweight d. Implantation

17. Which one ol the following, is not an organelle : :
a. Mitochondria b, Golgi apparatus
c.  Lndoplasmic reticulum d.  Nucleolus

18, Cells of connective tissue proper are all of the following except
a. Lyvmphocoyies b. Plasma cells
c. Fatcells d. Fibroblast

19. Osteoblasts are
a. Bone destroving cells b. Mincral depositing, cells
c. Bone forming cells d. Found in blood

200 Age of an embrvo upto which week
a. 0 weeks b. 7 weeks
c. 10weeks d. 8th week
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[ Deseriptive W

[ Answer question no.1 & any four (4) from the rest ]

a. Define bone,

b. What are the types of bone,

c. Describe with a neat diagram the different parts of a typical
long bone

Draw a diagram and describe the cross section of a medium sized
artery

Explain brackial plexus in details with a diagram. Give a note on
LrD’s palsy.

a. bixplain Femoral triangle.
b. What is Adductor canal
Use diagrams wherever required

Discuss the origin, insertion, nerve supply and action of muscles of
front of arm.

Write i details about external and internal teatures of ecach
chamber of the heart with labelled diagrams.

a. Explain Pepliteal tossa
b. Explain the Arches of the fool
Use labelled diagrams wherever necessary

Write short notes on any two of the following, :
a. Rotator cuff muscles
b. Fertilisation
c¢.  Musculature of the Thorax
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7+3=10

S+5=10

3+3+2+
2=10

S+5=10

5+5=10



